# Inverse Sturm-Liouville problem with conformable derivative and transmission conditions 

Mohammad Shahriari ${ }^{* 1}$ (D) Hanif Mirzaei ${ }^{2}$ (D)<br>${ }^{1}$ Department of Mathematics, Faculty of Basic Sciences, University of Maragheh, P.O. Box 55136-553, Maragheh, Iran<br>${ }^{2}$ Faculty of Basic Sciences, Sahand University of Technology, Tabriz, Iran


#### Abstract

In this paper, we study the inverse problem for Sturm-Liouville problem with conformable fractional differential operators of order $\alpha, 0.5<\alpha \leq 1$ and finite number of interior discontinuous conditions. For this aim first, the asymptotic formulas for solutions, eigenvalues and eigenfunctions of the problem are calculated. Then some uniqueness theorems for proposed inverse eigenvalue problem are proved. Finally, the Hald's theorem for conformable Sturm-Liouville problem is developed.


Mathematics Subject Classification (2020). 34B20, 34B24, 34L05, 34A55, 26A33, 47A10

Keywords. Inverse second order differential problem, conformable fractional derivative, transmission conditions, Weyl function, asymptotic solutions

## 1. Introduction

Sturm-Liouville equation is one of the most important problems in mathematics, physics and engineering. This problem arises in modeling of many systems in vibration theory, quantum mechanics, hydrodynamic and so on $[6,20,27]$. The classical Sturm-Liouville equation is a second order ordinary differential equation of the following form:

$$
\begin{equation*}
y^{\prime \prime}+(\lambda-q(x)) y=0, \quad 0<x<\pi, \tag{1.1}
\end{equation*}
$$

where $q(x)$ is the potential function and $\lambda$ is a parameter. For equation (1.1) two boundary conditions at end points are considered. Equation (1.1) with boundary conditions are called Sturm-Liouville problems (SLP). The value of $\lambda$ for which SLP has a nontrivial solution is called an eigenvalue and the corresponding nontrivial solution $y(x)$ is called an eigenfunction. It is proved that a SLP has an infinite sequence of eigenvalues $[6,13]$. The set of all eigenvalues is called spectrum. Some related problems to classical SturmLiouville problem can be found in $[6,13,17,18,24-26,28,29]$ and references therein. In studying fractional model of SLP the integer order derivatives are replaced with a fractional derivative such as Riemann-Liouville, Caputo, Caputo-Fabrizio and Conformable derivatives. See [1,5,12,21] for more details. In recent years, the study of fractional model

[^0]of SLP grew rapidly and some results of integer order are extended for fractional case, see $[10,14,16,22,30]$ and references therein. Asymptotic forms of eigenvalues and inverse problem for fractional SLP with Riemann-Liouville and Caputo derivatives are studied in $[10,23]$. In $[10,30]$ the eigenvalues and eigenfunctions are approximated numerically. In [16] the authors studied conformable Sturm-Liouville problem (CSLP) with regular boundary conditions. So, the asymptotic form of eigendata and related inverse problem using trace formula and nodal points are considered. More studies on CSLP can be found in $[2,4,7,19]$. In this paper, we consider CSLP with finite number of transmission conditions. In section 3, we find asymptotic formulas of eigendata and prove some uniqueness results related to inverse problem of CSLP using Weyl m-function. Also, we improve and develop the Hoschdat-Libermann type results for proposed problem.

## 2. Preliminaries

In this section, we give definition and some theorems of the conformable fractional (CF) derivative such that one can found in $[1,11]$. In what follows, we always take $D_{x}^{\alpha}=D^{\alpha}$.

Definition 2.1. For the function $f:[0, \infty) \rightarrow \mathbb{R}$, the CF derivative of $f$ of order $\alpha \in(0,1]$ defined by:

$$
D^{\alpha} f(x)=\lim _{\varepsilon \rightarrow 0} \frac{f\left(x+\varepsilon x^{1-\alpha}\right)-f(x)}{\varepsilon},
$$

for all $x>0$, and

$$
D^{\alpha} f(0)=\lim _{x \rightarrow 0^{+}} D^{\alpha} f(x)
$$

If $f$ is a differentiable function, then

$$
D^{\alpha} f(x)=x^{1-\alpha} f^{\prime}(x) .
$$

If $D^{\alpha} f\left(x_{0}\right)$ exists and is finite. Then the function $f$ is $\alpha$-differentiable at $x_{0}$.
Definition 2.2. The conformable integral of function $f$ of order $\alpha$ is defined as:

$$
J^{\alpha} f(x)=\int_{0}^{x} f(s) \mathrm{d}_{\alpha} s=\int_{0}^{x} s^{\alpha-1} f(s) \mathrm{d} s, \quad x>0 .
$$

where, the integrals are in Riemann setting.
Theorem 2.3. Let $f$ and $g$ be arbitrary $\alpha$-differentiable functions at $x>0$. Then the following results hold:
(1) $D^{\alpha}(a f+b g)=a D^{\alpha} f+b D^{\alpha} g, \quad \forall a, b \in \mathbb{R}$.
(2) $D^{\alpha}\left(x^{p}\right)=p x^{p-\alpha}, \quad \forall p \in \mathbb{R}$.
(3) $D^{\alpha}(c)=0$ for any constant $c$.
(4) $D^{\alpha}(f g)=D^{\alpha}(f) g+f D^{\alpha}(g)$.
(5) $D^{\alpha}(f / g)=\frac{D^{\alpha}(f) g-f D^{\alpha}(g)}{g^{2}}$, s.t. $g \neq 0$.
(6) For a continuous function $g:[0, \infty) \rightarrow \mathbb{R}$, we have $D^{\alpha} J^{\alpha} g(x)=g(x)$, for all $x>0$.
(7) For a differentiable function $g:[0, \infty) \rightarrow \mathbb{R}$, we have $J^{\alpha} D^{\alpha} g(x)=g(x)-g(0)$, for all $x>0$.

Theorem 2.4. If $g, h:[0, \infty) \rightarrow \mathbb{R}$ are an arbitrary $\alpha$-differentiable functions and $f(x)=$ $g(h(x))$, then $f$ is $\alpha$-differentiable and
(1) $\left(D^{\alpha} f\right)(x)=\left(D^{\alpha} g\right)(h(x))\left(D^{\alpha} h\right)(x) h(x)^{\alpha-1}, \quad x \neq 0, h(x) \neq 0$,
(2) $\left(D^{\alpha} f\right)(0)=\lim _{x \rightarrow 0^{+}}\left(D^{\alpha} g\right)(h(x))\left(D^{\alpha} h\right)(x) h(x)^{\alpha-1}$.

Definition 2.5. For a real number $1 \leq p<\infty$ and $\alpha>0$, the space $L_{p}^{\alpha}(0, a)$ is defined by

$$
L_{p}^{\alpha}(0, a)=\left\{f:[0, a] \rightarrow \mathbb{R},\left(\int_{0}^{a}|g(t)|^{p} d_{\alpha} t\right)^{1 / p}<\infty\right\}
$$

Theorem 2.6. For two $\alpha$-differentiable functions $g, h:[a, b] \rightarrow \mathbb{R}$, the $\alpha$-integration by parts has the following form

$$
\begin{equation*}
\int_{a}^{b} g(x) D^{\alpha} h(x) \mathrm{d}_{\alpha} x=\left.g(x) h(x)\right|_{a} ^{b}-\int_{a}^{b} h(x) D^{\alpha} g(x) \mathrm{d}_{\alpha} x . \tag{2.1}
\end{equation*}
$$

## 3. Main problem and spectral properties

In this section, we define the CSLP with transmission conditions as a main problem of the paper and find some spectral properties. For $\frac{1}{2}<\alpha \leq 1$ and $q \in L_{1}^{\alpha}[0, \pi]$, we consider CSLP

$$
\begin{equation*}
\ell_{\alpha} y:=-D^{\alpha} D^{\alpha} y+q y=\lambda y \tag{3.1}
\end{equation*}
$$

with boundary conditions

$$
\begin{align*}
& B_{1}(y):=D^{\alpha} y(0)+h y(0)=0 \\
& B_{2}(y):=D^{\alpha} y(\pi)+H y(\pi)=0 \tag{3.2}
\end{align*}
$$

and finite number of transmission conditions

$$
\begin{align*}
U_{i}(y) & :=y\left(d_{i}+\right)-a_{i} y\left(d_{i}-\right)=0 \\
V_{i}(y) & :=D^{\alpha} y\left(d_{i}+\right)-b_{i} D^{\alpha} y\left(d_{i}-\right)-c_{i} y\left(d_{i}-\right)=0 \tag{3.3}
\end{align*}
$$

for $i=1,2, \ldots, m-1$ and $m \geq 2$. The parameters $h, H$ and $a_{i}, b_{i}, c_{i}, d_{i}$ are real numbers. We denote the problem (3.1)-(3.3) with $L_{\alpha}=L_{\alpha}\left(q(x) ; h ; H ; d_{i}\right)$. Consider the weighted inner product

$$
\langle f, g\rangle_{T}:=\int_{0}^{\pi} f(t) \overline{g(t)} r(t) \mathrm{d}_{\alpha} t
$$

where $f, g \in L_{2}^{\alpha}((0, \pi) ; r)$ and $r(t)$ is the weight function

$$
r(t)= \begin{cases}1, & 0 \leq t<d_{1} \\ \frac{1}{a_{1} b_{1}}, & d_{1}<t<d_{2} \\ \vdots & \\ \frac{1}{a_{1} b_{1} \cdots a_{m-1} b_{m-1}}, & d_{m-1}<t \leq \pi\end{cases}
$$

Note that $T:=L_{\alpha}^{2}((0, \pi) ; r)$ is a Hilbert space with the norm $\|f\|_{T}=\langle f, f\rangle_{T}^{1 / 2}$. For $\alpha \in(0.5,1]$, let $A_{\alpha}: T \rightarrow T$ with domain

$$
\operatorname{dom}\left(A_{\alpha}\right)=\left\{\begin{array}{l|l}
f \in T & \begin{array}{c}
f, D^{\alpha} f \in A C\left(\cup_{0}^{m-1}\left(d_{i}, d_{i+1}\right)\right) \\
\ell_{\alpha} f \in L_{2}^{\alpha}(0, \pi), U_{i}(f)=V_{i}(f)=0
\end{array}
\end{array}\right\}
$$

by

$$
A_{\alpha} f=\ell_{\alpha} f, \quad f \in \operatorname{dom}\left(A_{\alpha}\right)
$$

Here $A C\left(\cup_{0}^{m-1}\left(d_{i}, d_{i+1}\right)\right)$ indicates the set of all absolutely continuous functions in $\cup_{0}^{m-1}\left(d_{i}, d_{i+1}\right)$. Suppose $f$ and $g$ are two solutions of the linear differential equation $\ell_{\alpha} f=\lambda f, \ell_{\alpha} g=\lambda g$ satisfying (3.3), the modified Wronskian

$$
\begin{equation*}
W_{\alpha}(f, g)=r(x)\left(f(x) D^{\alpha} g(x)-D^{\alpha} f(x) g(x)\right) \tag{3.4}
\end{equation*}
$$

is constant for all $x \in\left[0, d_{1}\right) \cup_{1}^{m-2}\left(d_{i}, d_{i}+1\right) \cup\left(d_{m-1}, \pi\right]$. Using the above formula $W_{\alpha}(f, g)(x)=W_{\alpha}(f, g)\left(x_{0}\right)$, for $x_{0} \in[0, d) \cup(d, \pi]$. So, $W_{\alpha}(f, g)$ does not depend on $x$.
Lemma 3.1. For $\alpha \in(0.5,1]$, the operator $A_{\alpha}$ is self-adjoint on $L_{2}^{\alpha}((0, \pi) ; r)$.

Proof. By employing twice the $\alpha$-integration by part, Theorem 2.6, one can write

$$
\left\langle\ell_{\alpha} f, g\right\rangle_{T}=\left.W_{\alpha}(f, g)\right|_{x=\pi}-\left.W_{\alpha}(f, g)\right|_{x=0}+\left\langle f, \ell_{\alpha} g\right\rangle_{T}
$$

It follows from the conditions (3.2) and (3.3),

$$
\left.W_{\alpha}(f, g)\right|_{x=\pi}-\left.W_{\alpha}(f, g)\right|_{x=0}=0
$$

Thus $A_{\alpha}$ is a self-adjoint operator.
For every function $h \in \operatorname{dom}\left(A_{\alpha}\right)$, we will denote by $h_{j}, 1 \leq j \leq m$, the restriction of $h$ to the interval $\left(d_{j-1}, d_{j}\right)$. We define $h_{j}\left(d_{j-1}\right)=h\left(d_{j-1}+0\right)$ and $h_{j}\left(d_{j}\right)=h\left(d_{j}-0\right)$.

Let $u(x, \lambda)$ and $v(x, \lambda)$ be the solutions of (3.1) with the following initial conditions

$$
\begin{equation*}
u(0, \lambda)=1, \quad D^{\alpha} u(0, \lambda)=-h, \tag{3.5}
\end{equation*}
$$

and

$$
\begin{equation*}
v(\pi, \lambda)=1, \quad D^{\alpha} v(\pi, \lambda)=-H, \tag{3.6}
\end{equation*}
$$

and the jump conditions (3.3), respectively. In the interval $\left[0, d_{1}\right.$ ) equation (3.1) has a uniqu solution $u_{1}(x, \lambda)$ which satisfies conditions (3.5) and is an entire function with respect to parameter $\lambda$. Similarly in the interval $\left(d_{m-1}, \pi\right]$ Equations (3.1) has a unique entire solution $v_{m}(x, \lambda)$ which satisfies (3.6). The characteristic function is defined by

$$
\begin{equation*}
\Delta(\lambda):=W_{\alpha}(u(\lambda), v(\lambda))=B_{1}(v(\lambda))=-r(\pi) B_{2}(u(\lambda)) . \tag{3.7}
\end{equation*}
$$

The function $\Delta(\lambda)$ is an entire function and the eigenvalues $\lambda_{n}$ of $L_{\alpha}$ are the zeros of $\Delta(\lambda)$. We have the following relation between the eigenfunctions $u_{i}\left(x, \lambda_{n}\right)$ and $v_{i}\left(x, \lambda_{n}\right)$ corresponding to the eigenvalues $\lambda_{n}$ :

$$
\begin{equation*}
v_{i}\left(x, \lambda_{n}\right)=\beta_{n} u_{i}\left(x, \lambda_{n}\right), \tag{3.8}
\end{equation*}
$$

from (3.5),

$$
\begin{equation*}
\beta_{n}=v\left(0, \lambda_{n}\right) . \tag{3.9}
\end{equation*}
$$

Also, we define the norming constant by

$$
\begin{equation*}
\gamma_{n}:=\left\|u\left(x, \lambda_{n}\right)\right\|_{T}^{-2} . \tag{3.10}
\end{equation*}
$$

In the following lemma, we find derivative of characteristic function with respect to the parameter $\lambda$.

Lemma 3.2. All zeros $\lambda_{n}$ of $\Delta(\lambda)$ are simple and we have

$$
\begin{equation*}
\dot{\Delta}\left(\lambda_{n}\right):=\frac{d}{d \lambda} \Delta\left(\lambda_{n}\right)=-\gamma_{n}^{-1} \beta_{n}, \tag{3.11}
\end{equation*}
$$

$\beta_{n}$ and $\gamma_{n}$ are defined in (3.9) and (3.10).
Proof. Since

$$
\ell_{\alpha} u\left(x, \lambda_{n}\right)=\lambda_{n} u\left(x, \lambda_{n}\right) \text { and } \ell_{\alpha} v(x, \lambda)=\lambda v(x, \lambda),
$$

using Theorem 2.3, we get

$$
D^{\alpha} W_{\alpha}\left(v(x, \lambda), u\left(x, \lambda_{n}\right)\right)=\left(\lambda-\lambda_{n}\right) v(x, \lambda) u\left(x, \lambda_{n}\right) .
$$

Using conformable integrating of order $\alpha$ over $[0, \pi]$, (3.2) and (3.3), we obtain

$$
\left(\lambda-\lambda_{n}\right) \int_{0}^{\pi} v(t, \lambda) u\left(t, \lambda_{n}\right) r(t) \mathrm{d}_{\alpha} t=\left.W_{\alpha}\left(v(x, \lambda), u\left(x, \lambda_{n}\right)\right)\right|_{0} ^{\pi}=-\Delta(\lambda) .
$$

For $\lambda \rightarrow \lambda_{n}$, and using $\Delta\left(\lambda_{n}\right)=0$, we get

$$
\int_{0}^{\pi} v\left(t, \lambda_{n}\right) u\left(t, \lambda_{n}\right) r(t) \mathrm{d}_{\alpha} t=-\dot{\Delta}\left(\lambda_{n}\right),
$$

where $\dot{\Delta}(\lambda)=\frac{d}{d \lambda} \Delta(\lambda)$. Using (3.8) and (3.10), we arrive at (3.11).
Finally, we have the following simple unitary transformation for the problem (3.1)-(3.3).

Remark 3.3. Without losing of generality of the problem (3.1)-(3.3), by [25, Lemma 2.3], we can take $a_{i} b_{i}=1$, for $i=1,2, \ldots, m$.

### 3.1. Asymptotic formulas for eigendata

In this subsection, we study the asymptotic forms of solutions and eigenvalues. For these purposes, we prove some Lemmas and Theorems as follows.
Theorem 3.4. Let $\lambda=\rho^{2}$ and $\tau:=|\operatorname{Im} \rho|$. For CSLP (3.1)-(3.3) as $|\lambda| \rightarrow \infty$, the asymptotic forms of solutions and the characteristic function formula are in the following forms:

$$
\begin{align*}
& u(x, \lambda)=\left\{\begin{array}{l}
\cos \left(\frac{\rho}{\alpha} x^{\alpha}\right)+O\left(\frac{1}{\rho} \exp \left(\frac{\tau}{\alpha} x^{\alpha}\right)\right), \quad 0 \leq x<d_{1}, \\
\alpha_{1} \cos \left(\frac{\rho}{\alpha} x^{\alpha}\right)+\alpha_{1}^{\prime} \cos \left(\frac{\rho}{\alpha}\left(x^{\alpha}-2 d_{1}^{\alpha}\right)\right)+O\left(\frac{1}{\rho} \exp \left(\frac{\tau}{\alpha} x^{\alpha}\right)\right), \quad d_{1}<x<d_{2}, \\
\alpha_{1} \alpha_{2} \cos \rho\left(\frac{\rho}{\alpha} x^{\alpha} \alpha+{ }^{\prime} \alpha_{1}^{\prime} \alpha_{2} \cos \left(\frac{\rho}{\alpha}\left(x^{\alpha}-2 d_{1}^{\alpha}\right)\right)+\alpha_{1} \alpha_{2}^{\prime} \cos \left(\frac{\rho}{\alpha}\left(x^{\alpha}-2 d_{2}^{\alpha}\right)\right)\right. \\
\quad+\alpha_{1}^{\prime} \alpha_{2}^{\prime} \cos \left(\frac{\rho}{\alpha}\left(x^{\alpha}+2 d_{1}^{\alpha}-2 d_{2}^{\alpha}\right)\right)+O\left(\frac{1}{\rho} \exp \left(\frac{\tau}{\alpha} x^{\alpha}\right)\right), \quad d_{2}<x<d_{3}, \\
\vdots \\
\alpha_{1} \alpha_{2} \ldots \alpha_{m-1} \cos \left(\frac{\rho}{\alpha} x^{\alpha}\right)+ \\
\quad+\alpha_{1}^{\prime} \alpha_{2} \ldots \alpha_{m-1} \cos \left(\frac{\rho}{\alpha}\left(x^{\alpha}-2 d_{1}^{\alpha}\right)\right)+\cdots \\
+\alpha_{1} \alpha_{2} \ldots \alpha_{m-1}^{\prime} \cos \left(\frac{\rho}{\alpha}\left(x^{\alpha}-2 d_{m-1}^{\alpha}\right)\right)+ \\
+\alpha_{1}^{\prime} \alpha_{2}^{\prime} \alpha_{3} \ldots \alpha_{m-1} \cos \left(\frac{\rho}{\alpha}\left(x^{\alpha}+2 d^{\alpha}-2 d_{2}^{\alpha}\right)\right)+\cdots \\
+\alpha_{1} \ldots \alpha_{j}^{\prime} \ldots \alpha_{k}^{\prime} \ldots \alpha_{m-1} \cos \left(\frac{\rho}{\alpha}\left(x^{\alpha}+2 d_{j}^{\alpha}-2 d_{k}^{\alpha}\right)\right) \\
+\alpha_{1} \ldots \alpha_{j}^{\prime} \ldots \alpha_{k}^{\prime} \ldots \alpha_{s}^{\prime} \ldots \alpha_{m-1} \cos \left(\frac{\rho}{\alpha}\left(x^{\alpha}-2 d_{j}^{\alpha}+2 d_{k}^{\alpha}-2 d_{s}^{\alpha}\right)\right)+\cdots \\
+\alpha_{1}^{\prime} \alpha_{2}^{\prime} \ldots \alpha_{m-1}^{\prime} \cos \left(\frac{\rho}{\alpha}\left(x^{\alpha}+2(-1)^{m-1} d_{1}^{\alpha}+2(-1)^{m-2} d_{2}^{\alpha}-2 d_{m}^{\alpha}\right)\right) \\
+O\left(\frac{1}{\rho} \exp \left(\frac{\tau}{\alpha} x^{\alpha}\right)\right), \quad d_{m-1}<x \leq \pi,
\end{array}\right. \tag{3.12}
\end{align*}
$$

where

$$
\begin{equation*}
\alpha_{i}=\frac{a_{i}+b_{i}}{2} \text { and } \alpha_{i}^{\prime}=\frac{a_{i}-b_{i}}{2}, \quad i=1,2, \ldots, m-1 . \tag{3.14}
\end{equation*}
$$

Also the similar asymptotic forms hold for the solutions $v, \tilde{v}$ and $\tilde{u}$. Moreover, we have

$$
\begin{aligned}
\Delta(\lambda)= & \rho w(\pi)\left[\alpha_{1} \alpha_{2} \ldots \alpha_{m-1} \sin \left(\frac{\rho}{\alpha} \pi^{\alpha}\right)+\alpha_{1}^{\prime} \alpha_{2} \ldots \alpha_{m-1} \sin \left(\frac{\rho}{\alpha}\left(\pi^{\alpha}-2 d_{1}^{\alpha}\right)\right)+\cdots\right. \\
& +\alpha_{1} \alpha_{2} \ldots \alpha_{m-1}^{\prime} \sin \left(\frac{\rho}{\alpha}\left(\pi^{\alpha}-2 d_{m-1}^{\alpha}\right)\right)+\alpha_{1}^{\prime} \alpha_{2}^{\prime} \alpha_{3} \ldots \alpha_{m-1} \sin \left(\frac{\rho}{\alpha}\left(\pi^{\alpha}+2 d_{1}^{\alpha}-2 d_{2}^{\alpha}\right)\right) \\
& +\cdots+\alpha_{1} \ldots \alpha_{j}^{\prime} \ldots \alpha_{k}^{\prime} \ldots \alpha_{m-1} \sin \left(\frac{\rho}{\alpha}\left(\pi^{\alpha}+2 d_{j}^{\alpha}-2 d_{k}^{\alpha}\right)\right) \\
& +\alpha_{1} \ldots \alpha_{j}^{\prime} \ldots \alpha_{k}^{\prime} \ldots \alpha_{s}^{\prime} \ldots \alpha_{m-1} \sin \left(\frac{\rho}{\alpha}\left(\pi^{\alpha}-2 d_{j}^{\alpha}+2 d_{k}^{\alpha}-2 d_{s}^{\alpha}\right)\right)+\cdots
\end{aligned}
$$

$$
\begin{align*}
& \left.+\alpha_{1}^{\prime} \alpha_{2}^{\prime} \ldots \alpha_{m-1}^{\prime} \sin \left(\frac{\rho}{\alpha}\left(\pi^{\alpha}+2(-1)^{m-1} d_{1}^{\alpha}+2(-1)^{m-2} d_{2}^{\alpha}-2 d_{m}^{\alpha}\right)\right)\right] \\
& +O\left(\exp \left(\frac{\tau}{\alpha} \pi^{\alpha}\right)\right) \tag{3.15}
\end{align*}
$$

Proof. Let $\mathcal{S}(x, \lambda)$ and $\mathfrak{C}(x, \lambda)$ be the solutions of (3.1) and (3.3) with the following conditions

$$
\begin{equation*}
\mathcal{S}(0, \lambda)=0, D^{\alpha} \mathcal{S}(0, \lambda)=1, \mathcal{C}(0, \lambda)=1, \text { and } D^{\alpha} \mathcal{C}(0, \lambda)=0 . \tag{3.16}
\end{equation*}
$$

Using (3.3) for $\mathcal{C}(x, \lambda)$, we obtain

$$
\mathcal{C}(x, \lambda)=\left\{\begin{array}{cc}
\cos \left(\frac{\rho}{\alpha} x^{\alpha}\right)+O\left(\frac{1}{\rho} \exp \frac{|\tau|}{\alpha} x^{\alpha}\right), & 0 \leq x<d_{1}, \\
a_{1} \mathcal{C}_{1}\left(d_{1}, \lambda\right) \cos \left(\frac{\rho}{\alpha}\left(x^{\alpha}-d_{1}^{\alpha}\right)\right)+\frac{b_{1}}{\rho} \mathcal{C}_{1}^{\prime}\left(d_{1}, \lambda\right) \sin \left(\frac{\rho}{\alpha}\left(x^{\alpha}-d_{1}^{\alpha}\right)\right) \\
+O\left(\frac{1}{\rho} \exp \frac{\tau}{\alpha}\left(x^{\alpha}-d_{1}^{\alpha}\right)\right), & d_{1}<x<d_{2}, \\
a_{2} \mathcal{C}_{2}\left(d_{2}, \lambda\right) \cos \left(\frac{\rho}{\alpha}\left(x^{\alpha}-d_{2}^{\alpha}\right)\right)+\frac{b_{2}}{\rho} \mathcal{C}_{2}^{\prime}\left(d_{2}, \lambda\right) \sin \left(\frac{\rho}{\alpha}\left(x^{\alpha}-d_{2}^{\alpha}\right)\right) \\
\quad+O\left(\frac{1}{\rho} \exp \frac{\tau}{\alpha}\left(x^{\alpha}-d_{2}^{\alpha}\right)\right), & d_{2}<x<d_{3}, \\
\vdots & \\
a_{m-1} \mathcal{C}_{m-1}\left(d_{m-1}, \lambda\right) \cos \left(\frac{\rho}{\alpha}\left(x^{\alpha}-d_{m-1}^{\alpha}\right)\right)+ \\
+\frac{b_{m-1}}{\rho} \mathcal{C}_{m-1}^{\prime}\left(d_{m-1}, \lambda\right) \sin \left(\frac{\rho}{\alpha}\left(x^{\alpha}-d_{m-1}^{\alpha}\right)\right)+ \\
+O\left(\frac{1}{\rho} \exp \frac{\tau}{\alpha}\left(x^{\alpha}-d_{m-1}^{\alpha}\right)\right), & d_{m-1}<x \leq \pi .
\end{array}\right.
$$

So, we insert the $k$ 'th statement into the $(k+1)^{\prime}$ 'th statement to get

$$
\mathcal{C}(x, \lambda)=\left\{\begin{array}{l}
\cos \left(\frac{\rho}{\alpha} x^{\alpha}\right)+O\left(\frac{1}{\rho} \exp \left(\frac{\tau}{\alpha} x^{\alpha}\right)\right), \quad 0 \leq x<d_{1}, \\
\alpha_{1} \cos \left(\frac{\rho}{\alpha} x^{\alpha}\right)+\alpha_{1}^{\prime} \cos \left(\frac{\rho}{\alpha}\left(x^{\alpha}-2 d_{1}^{\alpha}\right)\right)+O\left(\frac{1}{\rho} \exp \left(\frac{\tau}{\alpha} x^{\alpha}\right)\right), \quad d_{1}<x<d_{2}, \\
\alpha_{1} \alpha_{2} \cos \left(\frac{\rho}{\alpha} x^{\alpha}\right)+\alpha_{1}^{\prime} \alpha_{2} \cos \left(\frac{\rho}{\alpha}\left(x^{\alpha}-2 d_{1}^{\alpha}\right)\right)+\alpha_{1} \alpha_{2}^{\prime} \cos \left(\frac{\rho}{\alpha}\left(x^{\alpha}-2 d_{2}^{\alpha}\right)\right) \\
\quad+\alpha_{1}^{\prime} \alpha_{2}^{\prime} \cos \left(\frac{\rho}{\alpha}\left(x^{\alpha}+2 d_{1}^{\alpha}-2 d_{2}^{\alpha}\right)\right)+O\left(\frac{1}{\rho} \exp \left(\frac{\tau}{\alpha} x^{\alpha}\right)\right), \quad d_{2}<x<d_{3}, \\
\vdots \\
\alpha_{1} \alpha_{2} \ldots \alpha_{m-1} \cos \left(\frac{\rho}{\alpha} x^{\alpha}\right)+ \\
\quad+\alpha_{1}^{\prime} \alpha_{2} \ldots \alpha_{m-1} \cos \left(\frac{\rho}{\alpha}\left(x^{\alpha}-2 d_{1}^{\alpha}\right)\right)+\cdots \\
\quad+\alpha_{1} \alpha_{2} \ldots \alpha_{m-1}^{\prime} \cos \left(\frac{\rho}{\alpha}\left(x^{\alpha}-2 d_{m-1}^{\alpha}\right)\right)+ \\
\quad+\alpha_{1}^{\prime} \alpha_{2}^{\prime} \alpha_{3} \ldots \alpha_{m-1} \cos \left(\frac{\rho}{\alpha}\left(x^{\alpha}+2 d_{1}^{\alpha}-2 d_{2}^{\alpha}\right)\right)+\cdots \\
\quad+\alpha_{1} \ldots \alpha_{j}^{\prime} \ldots \alpha_{k}^{\prime} \ldots \alpha_{m-1} \cos \left(\frac{\rho}{\alpha}\left(x^{\alpha}+2 d_{j}^{\alpha}-2 d_{k}^{\alpha}\right)\right) \\
\\
+\alpha_{1} \ldots \alpha_{j}^{\prime} \ldots \alpha_{k}^{\prime} \ldots \alpha_{s}^{\prime} \ldots \alpha_{m-1} \cos \left(\frac{\rho}{\alpha}\left(x^{\alpha}-2 d_{j}^{\alpha}+2 d_{k}^{\alpha}-2 d_{s}^{\alpha}\right)\right)+\cdots \\
\\
+\alpha_{1}^{\prime} \alpha_{2}^{\prime} \ldots b_{m-1}^{\prime} \cos \left(\frac{\rho}{\alpha}\left(x^{\alpha}+2(-1)^{m-1} d_{1}^{\alpha}+2(-1)^{m-2} d_{2}^{\alpha}-2 d_{m}^{\alpha}\right)\right) \\
\\
\\
O\left(\frac{1}{\rho} \exp \left(\frac{\tau}{\alpha} x^{\alpha}\right)\right), \quad d_{m-1}<x \leq \pi,
\end{array}\right.
$$

where $\alpha_{i}$ and $\alpha_{i}^{\prime}$ are defined in (3.14) and $j<k<s, j, k, s=1,2, \ldots, m-1$. Similarly, we can obtain the asymptotic formula for $\mathcal{S}(x, \lambda)$. Applying the Definition 2.1, we calculate the asymptotic form of $D^{\alpha} \mathcal{S}(x, \lambda)$ and $D^{\alpha} \mathcal{C}(x, \lambda)$. This completes the proof by using $u(x, \lambda)=\mathcal{C}(x, \lambda)+h \mathcal{S}(x, \lambda)$.

Using Theorem 3.4 and Definition 2.1, we find

$$
\begin{align*}
|u(x, \lambda)| & =O\left(\exp \left(\frac{\tau}{\alpha} x^{\alpha}\right)\right) \\
\left|D^{\alpha} u(x, \lambda)\right| & =\left|x^{1-\alpha} u^{\prime}(x, \lambda)\right|=O\left(|\rho| \exp \left(\frac{\tau}{\alpha} x^{\alpha}\right)\right), 0 \leq x \leq \pi \tag{3.17}
\end{align*}
$$

By changing $x$ to $\pi-x$ and using the jump conditions (3.3) and Definition 2.1, we calculate the asymptotic forms of $v(x, \lambda)$ and $D^{\alpha} v(x, \lambda)$. Specially,

$$
\begin{align*}
|v(x, \lambda)| & =O\left(\exp \left(\frac{\tau}{\alpha}(\pi-x)^{\alpha}\right)\right) \\
\left|D^{\alpha} v(x, \lambda)\right| & =\left|x^{1-\alpha} v^{\prime}(x, \lambda)\right|=O\left(|\rho| \exp \left(\frac{\tau}{\alpha}(\pi-x)^{\alpha}\right)\right), \quad 0 \leq x \leq \pi \tag{3.18}
\end{align*}
$$

Define

$$
\begin{align*}
\Delta_{\circ}(\lambda):= & \rho r(\pi)\left[\alpha_{1} \alpha_{2} \ldots \alpha_{m-1} \sin \left(\frac{\rho}{\alpha} \pi^{\alpha}\right)+\alpha_{1}^{\prime} \alpha_{2} \ldots \alpha_{m-1} \sin \left(\frac{\rho}{\alpha}\left(\pi^{\alpha}-2 d_{1}^{\alpha}\right)\right)+\cdots\right. \\
& +\alpha_{1} \alpha_{2} \ldots \alpha_{m-1}^{\prime} \sin \left(\frac{\rho}{\alpha}\left(\pi^{\alpha}-2 d_{m-1}^{\alpha}\right)\right)+\alpha_{1}^{\prime} \alpha_{2}^{\prime} \alpha_{3} \ldots \alpha_{m-1} \sin \left(\frac{\rho}{\alpha}\left(\pi^{\alpha}+2 d_{1}^{\alpha}-2 d_{2}^{\alpha}\right)\right) \\
& +\cdots+\alpha_{1} \ldots \alpha_{i}^{\prime} \ldots \alpha_{j}^{\prime} \ldots \alpha_{m-1} \sin \left(\frac{\rho}{\alpha}\left(\pi^{\alpha}+2 d_{i}^{\alpha}-2 d_{j}^{\alpha}\right)\right) \\
& +\alpha_{1} \ldots \alpha_{i}^{\prime} \ldots \alpha_{j}^{\prime} \ldots \alpha_{k}^{\prime} \ldots \alpha_{m-1} \sin \left(\frac{\rho}{\alpha}\left(\pi^{\alpha}-2 d_{i}^{\alpha}+2 d_{j}^{\alpha}-2 d_{k}^{\alpha}\right)\right)+\cdots \\
& \left.+\alpha_{1}^{\prime} \alpha_{2}^{\prime} \ldots \alpha_{m-1}^{\prime} \sin \left(\frac{\rho}{\alpha}\left(\pi^{\alpha}+2(-1)^{m-1} d_{1}^{\alpha}+2(-1)^{m-2} d_{2}^{\alpha}-2 d_{m}^{\alpha}\right)\right)\right] \tag{3.19}
\end{align*}
$$

Let $\lambda_{n}=\rho_{n}^{2}$ and $\lambda_{n}^{\circ}=\left(\rho_{n}^{\circ}\right)^{2}$ be the zeros of the functions (3.15) and (3.19), respectively, then

$$
\begin{equation*}
\rho_{n}=\rho_{n}^{\circ}+o(1), \quad n \rightarrow \infty \tag{3.20}
\end{equation*}
$$

The roots of $\Delta_{\circ}(\lambda)$ are

$$
\rho_{n}^{\circ}=\alpha \pi^{1-\alpha} n+\vartheta_{n}
$$

where $\sup _{n} \vartheta_{n}<M$ for all $n \in \mathbb{N}$. As a result of Valiron's theorem ([15, Thm. 13.4]) and (3.15), we obtain the following asymptotic form.

Theorem 3.5. Let $\lambda_{n}=\rho_{n}^{2}$ be the eigenvalues of the problem $L_{\alpha}$, then we have the following asymptotic formula

$$
\begin{equation*}
\rho_{n}=\alpha \pi^{1-\alpha} n+O(1) \tag{3.21}
\end{equation*}
$$

as $n \rightarrow \infty$.
Lemma 3.6. The characteristic function $\Delta(\lambda)$ can be written in terms of eigenvalues $\lambda_{n}$, parameters $a_{i}, b_{i}$ in (3.3) and the order $\alpha$ as follows

$$
\begin{equation*}
\Delta(\lambda)=C \prod_{n=1}^{\infty} \frac{\lambda_{n}-\lambda}{\lambda_{n}^{\circ}} \tag{3.22}
\end{equation*}
$$

where $C=-\lambda_{0} \Omega \prod_{n=1}^{\infty} \frac{\lambda_{n}}{\lambda_{n}^{\circ}}$ and

$$
\begin{aligned}
\Omega= & \frac{r(\pi)}{\alpha}\left[\alpha_{1} \alpha_{2} \ldots \alpha_{m-1} \pi^{\alpha}+\alpha_{1}^{\prime} \alpha_{2} \ldots \alpha_{m-1}\left(\pi^{\alpha}-2 d_{1}^{\alpha}\right)+\cdots\right. \\
& +\alpha_{1} \alpha_{2} \ldots \alpha_{m-1}^{\prime}\left(\pi^{\alpha}-2 d_{m-1}^{\alpha}\right)+\alpha_{1}^{\prime} \alpha_{2}^{\prime} \alpha_{3} \ldots \alpha_{m-1}\left(\pi^{\alpha}+2 d_{1}^{\alpha}-2 d_{2}^{\alpha}\right) \\
& +\cdots+\alpha_{1} \ldots \alpha_{j}^{\prime} \ldots \alpha_{k}^{\prime} \ldots \alpha_{m-1}\left(\pi^{\alpha}+2 d_{j}^{\alpha}-2 d_{k}^{\alpha}\right)
\end{aligned}
$$

$$
\begin{aligned}
& +\alpha_{1} \ldots \alpha_{j}^{\prime} \ldots \alpha_{k}^{\prime} \ldots \alpha_{s}^{\prime} \ldots \alpha_{m-1}\left(\pi^{\alpha}-2 d_{j}^{\alpha}+2 d_{k}^{\alpha}-2 d_{s}^{\alpha}\right)+\ldots \\
& \left.+\alpha_{1}^{\prime} \alpha_{2}^{\prime} \ldots \alpha_{m-1}^{\prime}\left(\pi^{\alpha}+2(-1)^{m-1} d_{1}^{\alpha}+2(-1)^{m-2} d_{2}^{\alpha}-2 d_{m}^{\alpha}\right)\right]
\end{aligned}
$$

Proof. By the Hadamard's factorization theorem [3, P. 289], the characteristic function $\Delta(\lambda)$ can be written in the form

$$
\begin{equation*}
\Delta(\lambda)=C \prod_{n=0}^{\infty}\left(1-\frac{\lambda}{\lambda_{n}}\right)=\frac{C\left(\lambda-\lambda_{0}\right)}{\lambda_{0}} \prod_{n=1}^{\infty}\left(1-\frac{\lambda}{\lambda_{n}}\right) . \tag{3.23}
\end{equation*}
$$

Using the Hadamard's factorization [15, Sec. 4.2] for the function $\Delta_{\circ}(\lambda)$ defined in (3.19), we obtain the infinite product

$$
\Delta_{\circ}(\lambda)=\Omega \lambda \prod_{n=1}^{\infty}\left(1-\frac{\lambda}{\lambda_{n}^{\circ}}\right)
$$

Then

$$
\frac{\Delta(\lambda)}{\Delta_{\circ}(\lambda)}=\frac{C\left(\lambda_{0}-\lambda\right)}{\lambda_{0} \Omega \lambda} \prod_{n=1}^{\infty} \frac{\lambda_{n}^{\circ}}{\lambda_{n}} \prod_{n=1}^{\infty}\left(1+\frac{\lambda_{n}-\lambda_{n}^{\circ}}{\lambda_{n}^{\circ}-\lambda}\right)
$$

Taking (3.15) and (3.20) into account, we calculate

$$
\lim _{\lambda \rightarrow-\infty} \frac{\Delta(\lambda)}{\Delta_{\circ}(\lambda)}=1, \quad \lim _{\lambda \rightarrow-\infty} \prod_{n=1}^{\infty}\left(1+\frac{\lambda_{n}-\lambda_{n}^{\circ}}{\lambda_{n}^{\circ}-\lambda}\right)=1
$$

and hence

$$
C=-\lambda_{0} \Omega \prod_{n=1}^{\infty} \frac{\lambda_{n}}{\lambda_{n}^{\circ}}
$$

Substituting this into (3.23), we arrive at (3.22).
Example 3.7. Consider the following CSLP with one jump condition

$$
\begin{align*}
& -D^{\alpha} D^{\alpha} y=\lambda y \\
& D^{\alpha} y(0)=0, \quad y(\pi)=0  \tag{3.24}\\
& y\left(\frac{\pi}{4}+\right)-2 y\left(\frac{\pi}{4}-\right)=0, \quad D^{\alpha} y\left(\frac{\pi}{4}+\right)-\frac{1}{2} D^{\alpha} y\left(\frac{\pi}{4}-\right)=0
\end{align*}
$$

The characteristic function and eigenfunctions are

$$
\begin{gathered}
\Delta(\lambda)=\frac{5}{4} \cos \left(\frac{\rho}{\alpha} \pi^{\alpha}\right)+\frac{3}{5} \cos \left(\frac{\rho}{\alpha}\left(\pi^{\alpha}-2\left(\frac{\pi}{4}\right)^{\alpha}\right)\right) \\
y_{n, \alpha}(x)= \begin{cases}\cos \left(\frac{\rho_{n}}{\alpha} x^{\alpha}\right), & 0 \leq x<\frac{\pi}{4} \\
\frac{5}{4} \cos \left(\frac{\rho_{n}}{\alpha} x^{\alpha}\right)+\frac{3}{5} \cos \left(\frac{\rho_{n}}{\alpha}\left(x^{\alpha}-2\left(\frac{\pi}{4}\right)^{\alpha}\right)\right), & \frac{\pi}{4} \leq x \leq \pi\end{cases}
\end{gathered}
$$

The eigenvalues and eigenfunctions are presented in Table 1 and Figure 1. We use the fzero function in MATLAB R2015a to compute the zeros $\rho_{n, \alpha}$ of the function $\Delta(\lambda)$.

Example 3.8. We consider a CSLP with two jump conditions

$$
\begin{align*}
& -D^{\alpha} D^{\alpha} y=\lambda y \\
& D^{\alpha} y(0)=0, \quad y(\pi)=0  \tag{3.25}\\
& y\left(\frac{\pi}{4}+\right)-2 y\left(\frac{\pi}{4}-\right)=0, \quad D^{\alpha} y\left(\frac{\pi}{4}+\right)-\frac{1}{2} D^{\alpha} y\left(\frac{\pi}{4}-\right)=0 \\
& y\left(\frac{7 \pi}{10}+\right)-3 y\left(\frac{7 \pi}{10}-\right)=0, \quad D^{\alpha} y\left(\frac{7 \pi}{10}+\right)-\frac{1}{3} D^{\alpha} y\left(\frac{7 \pi}{10}-\right)=0
\end{align*}
$$

The characteristic function and eigenfunctions are

$$
\Delta(\lambda)=\frac{25}{12} \cos \left(\frac{\rho}{\alpha} \pi^{\alpha}\right)+\frac{5}{4} \cos \left(\frac{\rho}{\alpha}\left(\pi^{\alpha}-2\left(\frac{\pi}{4}\right)^{\alpha}\right)+\frac{5}{3} \cos \left(\frac{\rho}{\alpha}\left(\pi^{\alpha}-2\left(\frac{7 \pi}{10}\right)^{\alpha}\right)\right.\right.
$$

|  | $\rho_{n, \alpha}$ |  |  |  |  |  | $\zeta_{n, \alpha}$ |  |  |  |
| ---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: |
| $n$ | $\alpha=0.7$ | $\alpha=0.8$ | $\alpha=0.9$ | $\alpha=1$ |  | $\alpha=0.7$ | $\alpha=0.8$ | $\alpha=0.9$ | $\alpha=1$ |  |
| 1 | 0.666 | 0.656 | 0.636 | 0.612 |  | 0.67 | 0.65 | 0.63 | 0.61 |  |
| 2 | 1.388 | 1.517 | 1.621 | 1.675 |  | 0.70 | 0.75 | 0.80 | 0.84 |  |
| 3 | 2.413 | 2.354 | 2.317 | 2.324 |  | 0.81 | 0.78 | 0.77 | 0.77 |  |
| 4 | 3.643 | 3.665 | 3.537 | 3.388 |  | 0.92 | 0.91 | 0.88 | 0.85 |  |
| 10 | 9.246 | 9.683 | 9.382 | 0.6615 |  | 0.94 | 0.96 | 0.93 | 0.97 |  |
| 15 | 14.317 | 14.398 | 14.781 | 14.324 |  | 0.97 | 0.95 | 0.98 | 0.95 |  |
| 20 | 19.384 | 19.712 | 19.532 | 19.388 |  | 0.98 | 0.98 | 0.97 | 0.97 |  |
| 25 | 24.379 | 24.723 | 24.759 | 24.612 |  | 0.99 | 0.98 | 0.98 | 0.98 |  |
| 30 | 29.277 | 29.467 | 29.815 | 29.675 |  | 0.99 | 0.98 | 0.98 | 0.99 |  |
| 35 | 34.120 | 34.860 | 34.728 | 34.324 |  | 0.99 | 0.99 | 0.98 | 0.98 |  |

Table 1. Eigenvalues and asymptotic results for Example 3.7.


Figure 1. Eigenfunctions of Example 3.7 for different values of $n$ and $\alpha$.

$$
\begin{gathered}
\quad+\cos \left(\frac{\rho}{\alpha}\left(\pi^{\alpha}+2\left(\frac{\pi}{4}\right)^{\alpha}-2\left(\frac{7 \pi}{10}\right)^{\alpha}\right),\right. \\
y_{n, \alpha}(x)= \begin{cases}\cos \left(\frac{\rho_{n}}{\alpha} x^{\alpha}\right), & 0 \leq x<\frac{\pi}{4} \\
\frac{5}{4} \cos \left(\frac{\rho_{n}}{\alpha} x^{\alpha}\right)+\frac{5}{3} \cos \left(\frac{\rho_{n}}{\alpha}\left(x^{\alpha}-2\left(\frac{\pi}{4}\right)^{\alpha}\right),\right. & \frac{\pi}{4} \leq x \leq \frac{7 \pi}{10} \\
\frac{55}{12} \cos \left(\frac{\rho_{n}}{\alpha} \pi^{\alpha}\right)+\frac{5}{4} \cos \left(\frac{\rho_{n}}{\alpha}\left(\pi^{\alpha}-2\left(\frac{\pi}{4}\right)^{\alpha}\right)+\frac{5}{3} \cos \left(\frac{\rho_{n}}{\alpha}\left(\pi^{\alpha}-2\left(\frac{7 \pi}{10}\right)^{\alpha}\right)\right.\right. \\
\quad+\cos \left(\frac{\rho_{n}}{\alpha}\left(\pi^{\alpha}+2\left(\frac{\pi}{4}\right)^{\alpha}-2\left(\frac{7 \pi}{10}\right)^{\alpha}\right),\right. & \frac{7 \pi}{10} \leq x \leq \pi\end{cases} \\
\hline
\end{gathered}
$$

The eigenvalues and eigenfunctions are presented in Table 2 and Figure 2.
We compared the eigenvalues with first term of asymptotic form (3.21) as $\zeta_{n, \alpha}=\frac{\rho_{n, \alpha}}{n \alpha \pi^{1-\alpha}}$. The eigenvalues and ratios $\zeta_{n, \alpha}$ are presented in Tables 1 and 2. According to asymptotic form (3.21), the values of $\zeta_{n, \alpha}$ must tend to one, that hold for results of $\zeta_{n, \alpha}$ in Tables 1

|  | $\rho_{n, \alpha}$ |  |  |  |  |  | $\zeta_{n, \alpha}$ |  |  |  |
| ---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: |
| $n$ | $\alpha=0.7$ | $\alpha=0.8$ | $\alpha=0.9$ | $\alpha=1$ |  | $\alpha=0.7$ | $\alpha=0.8$ | $\alpha=0.9$ | $\alpha=1$ |  |
| 1 | 0.8592 | 0.8858 | 0.8907 | 0.8810 |  | 0.87 | 0.88 | 0.88 | 0.88 |  |
| 2 | 1.5686 | 1.6744 | 1.7300 | 1.6697 |  | 0.79 | 0.83 | 0.86 | 0.83 |  |
| 3 | 2.2871 | 2.1361 | 2.0634 | 2.1247 |  | 0.77 | 0.71 | 0.68 | 0.71 |  |
| 4 | 3.4614 | 3.5151 | 3.4746 | 3.4144 |  | 0.88 | 0.87 | 0.86 | 0.85 |  |
| 10 | 9.2889 | 9.9688 | 9.2520 | 9.5834 |  | 0.94 | 0.99 | 0.92 | 0.96 |  |
| 15 | 14.4103 | 14.2520 | 14.8143 | 14.5870 |  | 0.97 | 0.94 | 0.98 | 0.97 |  |
| 20 | 19.5312 | 19.6282 | 19.7697 | 19.1189 |  | 0.99 | 0.98 | 0.98 | 0.96 |  |
| 25 | 24.4888 | 24.8875 | 24.3889 | 24.8760 |  | 0.99 | 0.99 | 0.97 | 0.99 |  |
| 30 | 29.1105 | 29.7962 | 29.8781 | 29.5834 |  | 0.98 | 0.99 | 0.99 | 0.99 |  |
| 35 | 33.7523 | 34.6472 | 34.8633 | 33.7604 |  | 0.98 | 0.98 | 0.99 | 0.96 |  |

Table 2. Eigenvalues and asymptotic results for example 3.1.


Figure 2. Eigenfunctions of Example 3.8 for different values of $n$ and $\alpha$.
and 2. The first four eigenfunctions for different values of $\alpha$ are plotted in Figures 1 and 2 . It is well known that, the $n$th eigenfunction of classical Sturm-Liouville problem defined on $[0, \pi]$, has $(n-1)$ zero in interval $(0, \pi)$. The graphs in Figures 1 and 2 indicate that this result hold also for CSLP with jump conditions.

### 3.2. Uniqueness results

In this section, we propose three inverse problems corresponding to CSLP (3.1)-(3.3). First, we state and prove uniqueness results using Weyl $M$-function. Second, we consider one spectrum and corresponding norming constants. Finally, we study the inverse problem using two spectra corresponding to two different set of boundary conditions. Define the

Weyl $M$-function as

$$
\begin{equation*}
M(\lambda)=-\frac{v(0, \lambda)}{\Delta(\lambda)} \tag{3.26}
\end{equation*}
$$

Using (3.5) and (3.18), we find

$$
\begin{equation*}
M(\lambda)=\frac{1}{\sqrt{-\lambda}}+O\left(\lambda^{-1}\right), \quad \lambda \notin \mathbb{R}^{+} \tag{3.27}
\end{equation*}
$$

Using $\mathcal{S}(x, \lambda)$ and $u(x, \lambda)$ in (3.5) and (3.16), $W_{\alpha}(u(\lambda), \mathcal{S}(\lambda))=1$ and substituting $v(x, \lambda)$, we obtain

$$
\begin{equation*}
\Phi(x, \lambda):=\frac{v(x, \lambda)}{\Delta(\lambda)}=\mathcal{S}(x, \lambda)-M(\lambda) u(x, \lambda) . \tag{3.28}
\end{equation*}
$$

The function $\Phi(x, \lambda)$ is called the Weyl solution for $L_{\alpha}$. Clearly

$$
\begin{equation*}
W_{\alpha}(u(\lambda), \Phi(\lambda))=1 . \tag{3.29}
\end{equation*}
$$

Lemma 3.9. The function $M(\lambda)$ is a meromorphic function and satisfies

$$
\operatorname{Im}(M(\lambda))=\operatorname{Im}(\lambda)\|\Phi(\lambda)\|_{T}^{2}
$$

and we have

$$
\begin{equation*}
M(\lambda)=\sum_{n=0}^{\infty} \frac{\gamma_{n}}{\lambda_{n}-\lambda}, \tag{3.30}
\end{equation*}
$$

where that

$$
\sum_{n=0}^{\infty} \frac{\gamma_{n}}{1+\left|\lambda_{n}\right|^{\gamma}}<\infty, \quad \forall \gamma>\frac{1}{2}
$$

Proof. Given two solutions $u(x), v(x)$ of $\ell_{\alpha} u=\lambda u, \ell_{\alpha} v=\hat{\lambda} v$, respectively. Using (3.4) and from the straightforward calculations, we get

$$
(\hat{\lambda}-\lambda) \int_{0}^{x} u(t) v(t) r(t) \mathrm{d}_{\alpha} t=\left.W_{\alpha}(u, v)\right|_{x}-\left.W_{\alpha}(u, v)\right|_{0} .
$$

Now choose $u(x)=\Phi(x, \lambda)$ and $v(x)=\overline{\Phi(x, \lambda)}=\Phi(x, \bar{\lambda})$, then

$$
\left.W_{\alpha}(\Phi(x, \lambda), \overline{\Phi(x, \lambda)})\right|_{x=\pi}-2 \operatorname{Im}(M(\lambda))=-2 \operatorname{Im}(\lambda) \int_{0}^{\pi}|\Phi(x, \lambda)|^{2} r(x) d_{\alpha} x
$$

and observe that $\left.W_{\alpha}(\Phi(x, \lambda), \overline{\Phi(x, \lambda)})\right|_{x=\pi}$ vanishes as $x=\pi$. Thus $M(\lambda)$ can be represented as follows

$$
M(\lambda)=\int_{\mathbb{R}} \frac{d \rho(t)}{\lambda_{n}-t},
$$

where $\rho$ is a Borel measure satisfies

$$
\int_{\mathbb{R}} \frac{d \rho(t)}{1+|\lambda|^{\gamma}}, \quad \forall \gamma>\frac{1}{2}
$$

see [27] for more details. Note that by (3.26) the function $M(\lambda)$ is meromorphic. It yields that $\rho$ is a pure point measurement that is supported at the poles with masses given by negative residues. Therefore, the result from Lemma 3.2 is obtained.

We are now ready to state the uniqueness results of the problems (3.1)-(3.3). For this aim, we denote the problem of the form $L_{\alpha}$ and parameters $\tilde{h}, \tilde{H}, \tilde{a}_{i}, \tilde{b}_{i}, \tilde{c}_{i}, \tilde{d}_{i}$ with $\tilde{L}_{\alpha}$. We denote by $\eta$ and $\tilde{\eta}$ an object related to $L_{\alpha}$ and $\tilde{L}_{\alpha}$, respectively.
Theorem 3.10. If the $M$-functions $M(\lambda)=\tilde{M}(\lambda)$ and $r(x)=\tilde{r}(x)$ then $L_{\alpha}=\tilde{L}_{\alpha}$. That is, the Weyl $M$-function and weight function determined the problem $L_{\alpha}$, uniquely.

Proof. It follows from (3.18) and (3.28) that

$$
\begin{equation*}
|\Phi(x, \lambda)| \leq C|\rho|^{-1} \exp \left(\frac{-\tau}{\alpha} x^{\alpha}\right), \quad\left|D^{\alpha} \Phi(x, \lambda)\right| \leq C \exp \left(\frac{-\tau}{\alpha} x^{\alpha}\right) \tag{3.31}
\end{equation*}
$$

as $\lambda \rightarrow \infty$ along each beam except the positive real axis. We introduce a new matrix $T(x, \lambda)$ as follows

$$
T(x, \lambda)\left(\begin{array}{cc}
\tilde{u}(x, \lambda) & \tilde{\Phi}(x, \lambda) \\
D^{\alpha} \tilde{u}(x, \lambda) & D^{\alpha} \tilde{\Phi}(x, \lambda)
\end{array}\right)=\left(\begin{array}{cc}
u(x, \lambda) & \Phi(x, \lambda) \\
D^{\alpha} u(x, \lambda) & D^{\alpha} \Phi(x, \lambda)
\end{array}\right) .
$$

Using (3.29), we find

$$
\left(\begin{array}{cc}
T_{11}(x, \lambda) & T_{12}(x, \lambda)  \tag{3.32}\\
T_{21}(x, \lambda) & T_{22}(x, \lambda)
\end{array}\right)=\left(\begin{array}{cc}
u D^{\alpha} \tilde{\Phi}-D^{\alpha} \tilde{u} \Phi & \tilde{u} \Phi-u \tilde{\Phi} \\
D^{\alpha} u D^{\alpha} \tilde{\Phi}-D^{\alpha} \tilde{u} D^{\alpha} \Phi & \tilde{u} D^{\alpha} \Phi-D^{\alpha} u \tilde{\Phi}
\end{array}\right)
$$

and

$$
\begin{equation*}
\binom{u(x, \lambda)}{\Phi(x, \lambda)}=\binom{T_{11}(x, \lambda) \tilde{u}(x, \lambda)+T_{12}(x, \lambda) D^{\alpha} \tilde{u}(x, \lambda)}{T_{11}(x, \lambda) \tilde{\Phi}(x, \lambda)+T_{12}(x, \lambda) D^{\alpha} \tilde{\Phi}(x, \lambda)} . \tag{3.33}
\end{equation*}
$$

The entries $T_{j k}(x, \lambda), j, k=1,2$ are meromorphic functions with respect to $\lambda$ and have simple poles $\lambda_{n}$ and $\tilde{\lambda}_{n}$. Moreover, if $M(\lambda)=\tilde{M}(\lambda)$ then using the Eqs. (3.28) and (3.32) we see that the functions $T_{11}(x, \lambda)$ and $P_{12}(x, \lambda)$ are entire of order $1 / 2$ with respect to the $\lambda$. Using (3.31) we get

$$
\begin{equation*}
\left|T_{11}(x, \lambda)\right| \leq C, \quad\left|T_{12}(x, \lambda)\right| \leq \frac{C}{|\rho|} \tag{3.34}
\end{equation*}
$$

for $\lambda \notin \mathbb{R}^{+}$. Moreover, by assumptions these functions grow with order $s<1 / 2$. So, we can apply the Phragmén-Lindelöf theorem (e.g., [15, Sect. 6.1]) the two half-planes bounded by the imaginary axis. This indicates that the functions $T_{11}$ and $T_{12}$ are bounded on $\mathbb{C}$ and by Liouville's theorem, they are constant. The function $T_{12} \rightarrow 0$ as $\rho \rightarrow \infty$, hence this function must be equal to zero. So, we obtain

$$
T_{11}(x, \lambda)=\mathrm{A}(x), T_{12}(x, \lambda)=0
$$

Applying (3.33), we have

$$
\begin{equation*}
u(x, \lambda)=\mathrm{A}(x) \tilde{u}(x, \lambda), \Phi(x, \lambda)=\mathrm{A}(x) \tilde{\Phi}(x, \lambda) . \tag{3.35}
\end{equation*}
$$

It follows from (3.7), $W_{\alpha}(u(\lambda), \Phi(\lambda))=W_{\alpha}(\tilde{u}(\lambda), \tilde{\Phi}(\lambda))=1$ and so we deduce $\mathrm{A}(x)=$ $\frac{\tilde{r}(x)}{r(x)}=1$, that is, $u(x, \lambda)=\tilde{u}(x, \lambda), \Phi(x, \lambda)=\tilde{\Phi}(x, \lambda)$, and $v(x, \lambda)=\tilde{v}(x, \lambda)$. Therefore from $(3.1),(3.3),(3.7)$, and (3.6) we calculate $q(x)=\tilde{q}(x)$, a.e. on $[0, \pi]$ and $a_{i}=\tilde{a}_{i}$, $b_{i}=\tilde{b}_{i}, c_{i}=\tilde{c}_{i}, d_{i}=\tilde{d}_{i}, h=\tilde{h}$ and $H=\tilde{H}$. Consequently $L_{\alpha}=\tilde{L}_{\alpha}$.
Corollary 3.11. If $\lambda_{n}=\tilde{\lambda}_{n}$ and $\gamma_{n}=\tilde{\gamma}_{n}$, for $n=0,1,2, \ldots$, and $r(x)=\tilde{r}(x)$ then $L_{\alpha}=\tilde{L}_{\alpha}$.
Proof. According to (3.30), the specification of the $M(\lambda)$ is equivalent to the specification of the $\left\{\lambda_{n}, \gamma_{n}\right\}_{n \geq 0}$ (spectral data). Then $M(\lambda)=\tilde{M}(\lambda)$.
Finally, we consider the CSLP $L_{\alpha}^{k}$ such that in the problem (3.1)-(3.3) we replaced the boundary condition $L_{1}(y)$ by

$$
L_{1}^{\prime}(y)= \begin{cases}D^{\alpha} y(0)+k y(0)=0, & k \in \mathbb{R}, \\ y(0)=0, & k=\infty\end{cases}
$$

The eigenvalues of the problem $L_{\alpha}^{k}$ are denoted $\left\{\mu_{n}\right\}_{n \geq 0}$.
Corollary 3.12. If $\lambda_{n}=\tilde{\lambda}_{n}$ and $\mu_{n}=\tilde{\mu}_{n}$ for $n=0,1,2, \ldots$, and $r(x)=\tilde{r}(x)$ for $k \neq h$, then $L_{\alpha}=\tilde{L}_{\alpha}$.

Proof. First we verify the case $k=\infty$. By virtue of (3.26) the poles and zeros of $M(\lambda)$ coincide with the spectra of $L_{\alpha}^{k}$ and $L_{\alpha}$, respectively. Thus the function $M(\lambda)$ can be constructed using two spectra $\lambda_{n}$ and $\mu_{n}$, uniquely. In the case $k \in \mathbb{R}$, the Weyl function defined in (3.26) and (3.27) is replaced with $M(\lambda)+(k-h)^{-1}$. Since $h=\tilde{h}$ and $k=\tilde{k}$, it follows $L_{\alpha}=\tilde{L}_{\alpha}$.

Now, in the following theorem we extend the Hochstadt-Lieberman [9] and Hald's [8] Theorems for the conformable Sturm-Liouville problem. The case $\alpha=1$ yields to the Theorem 4.5 in [25].
Theorem 3.13. If $\lambda_{n}=\tilde{\lambda}_{n}, r(x)=\tilde{r}(x), L_{1}=\tilde{L}_{1}, q(x)=\tilde{q}(x)$ for a.e. $x<\frac{\pi}{2}$ and $U_{i}=\tilde{U}_{i}, V_{i}=\tilde{V}_{i}$ for all $i$ with $d_{i}<\frac{\pi}{2}$, then $L_{\alpha}=\tilde{L}_{\alpha}$.
Proof. Using the Hadamard factorization theorem, we get

$$
\begin{equation*}
W_{\alpha}(\tilde{u}, \tilde{v})=K W_{\alpha}(u, v) \tag{3.36}
\end{equation*}
$$

for some constant $K$, which can be determined from the asymptotic form of (3.15) as $\lambda \rightarrow \infty$ :

$$
K=\prod_{i: d_{i} \geq \frac{\pi}{2}} \frac{\tilde{\alpha_{i}}}{\alpha_{i}} \neq 0 .
$$

By assumptions, we conclude that $u=\tilde{u}$ for $x<\frac{\pi}{2}$. Applying in (3.36), we obtain the following fractional differential equation

$$
\frac{D^{\alpha} u}{u}=\frac{D^{\alpha}(\tilde{v}-K v)}{(\tilde{v}-K v)}, \quad x<\frac{\pi}{2} .
$$

Taking $\alpha$-integration, we get

$$
\tilde{v}(x, \lambda)=K v(x, \lambda)+F(\lambda) u(x, \lambda), \quad x<\frac{\pi}{2} .
$$

The function $F(\lambda)$ is entire and the order of it is at most $\frac{1}{2}$. Since by asymptotic forms in Theorem $3.4 u, v$ and $\tilde{v}$ are entire functions, the limit of $F(\lambda)$ for $x \rightarrow \frac{\pi}{2}-$ is

$$
F(\lambda)=\frac{\tilde{v}\left(\frac{\pi}{2}-, \lambda\right)-K v\left(\frac{\pi}{2}-, \lambda\right)}{u\left(\frac{\pi}{2}-, \lambda\right)}=K \frac{v\left(\frac{\pi}{2}-, \lambda\right)}{u\left(\frac{\pi}{2}-, \lambda\right)}\left(\frac{\tilde{v}\left(\frac{\pi}{2}-, \lambda\right)}{K v\left(\frac{\pi}{2}-, \lambda\right)}-1\right) .
$$

Using the asymptotic forms of the expression in parenthesis, we see that this is bounded and vanishes for along every ray different from the positive real axis, while the first part of $F(\lambda)$ is bounded by the asymptotic form of (3.12) for $u$ and the analogous for $v$. The Phragmén-Lindelöf Theorem concludes that $F(\lambda)$ must be identically zero. Thus we have

$$
\begin{equation*}
\tilde{v}(x, \lambda)=K v(x, \lambda) . \tag{3.37}
\end{equation*}
$$

We rewrite the equation (3.28) for $v, \triangle(\lambda)$ and $\tilde{v}, \tilde{\triangle}(\lambda)$ as follows

$$
\begin{equation*}
\frac{v(x, \lambda)}{\Delta(\lambda)}=\mathcal{S}(x, \lambda)-M(\lambda) u(x, \lambda), \quad \frac{\tilde{v}(x, \lambda)}{\tilde{\Delta}(\lambda)}=\tilde{\mathcal{S}}(x, \lambda)-\tilde{M}(\lambda) \tilde{u}(x, \lambda) . \tag{3.38}
\end{equation*}
$$

By assumptions, for $x<\frac{\pi}{2}$ we have $\mathcal{S}=\tilde{\mathcal{S}}, u=\tilde{u}$ and by (3.36) $\tilde{\triangle}(\lambda)=K \triangle(\lambda)$. Substituting this relations and (3.37) in (3.38), we get that $M(\lambda)=\tilde{M}(\lambda)$ and the proof is completed using Theorem 3.10.

Acknowledgment. The authors gratefully thank to the Referees for the constructive comments and recommendations which definitely help to improve the readability and quality of the paper.

## References

[1] T. Abdeljawad, On conformable fractional calculus, J. Comput. Appl. Math. 279, 57-66, 2015.
[2] B.P. Allahverdiev, H. Tuna and Y. Yalcinkaya, Spectral expansion for singular conformable Sturm-Liouville problem, Math. Commun. 25 (2), 237-252, 2020.
[3] J.B. Conway, Functions of One Complex Variable, Springer-Verlag, New York, 1995.
[4] Y. Çakmak, Inverse nodal problem for a conformable fractional diffusion operator, Inverse Probl. Sci. Eng. 29 (9), 1308-1322, 2021.
[5] K. Diethelm, The Analysis of Fractional Differential Equations, Springer-Verlag, Berlin, 2010.
[6] G.M.L. Gladwell, Inverse problem in vibration, Kluwer Academic Publishers, New York, 2004.
[7] T. Gulshen, E. Yilmaz and H. Kemaloglu, Conformable fractional Sturm-Liouville equation and some existence results on time scales, Turk. J. Math. 42 (3), 1348-1360, 2018.
[8] O.H. Hald, Discontinuous inverse eigenvalue problems, Comm. Pure Appl. Math. 37 (5), 539-577, 1984.
[9] H. Hochstadt and B. Lieberman, An inverse Sturm-Liouville problem with mixed given data, SIAM J. Appl. Math. 34 (4), 676-680, 1987.
[10] B. Jin and W. Rundell, An inverse Sturm-Liouville problem with a fractional derivative, J. Comput. Phys. 231 (14), 4954-4966, 2012.
[11] R. Khalil, M. Al Horani and A. Yousef, A new definition of fractional derivative. J. Comput. Appl. Math. 264, 65-70, 2014.
[12] A.A. Kilbas, H.M. Srivastava and J.J. Trujillo, Theory and applications of fractional differential equations,North-Holland Mathematics Studies, Elsevier Science, 2006.
[13] A. Kirsch, An Introduction to the Mathematical Theory of Inverse Problems, SpringerVerlag, New York, 1996.
[14] M. Klimek and O.P. Agrawal, Fractional Sturm-Liouville problem. Comput. Math. Appl. 66 (5), 795-812, 2013.
[15] B.Y. Levin, Lectures on Entire Functions, Transl. Math. Monographs, American Mathematical Society, 1996.
[16] H. Mortazaasl and A. Jodayree Akbarfam, Trace formula and inverse nodal problem for a conformable fractional Sturm-Liouville problem, Inverse Probl. Sci. Eng. 28 (4), 524-555, 2020.
[17] G. Mutlu, Associated functions of non-selfadjoint Sturm-Liouville operator with operator coefficient, TWMS Journal of Applied and Engineering Mathematics 11 (1), 113-121, 2020.
[18] G. Mutlu and E.K. Arpat, Spectral properties of non-selfadjoint Sturm-Liouville operator equation on the real axis, Hacet. J. Math. Stat. 49 (5), 1686-1694, 2020.
[19] A.S. Ozkan and İ. Adalar, Inverse problems for a conformable fractional SturmLiouville operator, J. Inverse Ill-Posed Probl. 28 (6), 775-782, 2020.
[20] A. Pálfalvi, Efficient solution of a vibration equation involving fractional derivatives. Int. J. Nonlin. Mech. 45, 169-175, 2010.
[21] I. Podlubny, Fractional Differential Equations, Academic Press, San Diego, 1999.
[22] M. Rivero, J.J. Trujillo and M.P. Velasco, A fractional approach to the Sturm-Liouville problem, Centr. Eur. J. Phys. 11 (10), 1246-1254, 2013.
[23] A.M. Sedletski, Asymptotic formulas for zeros of functions of MittagLeffler type, Anal. Math. 20 (2), 117-132, 1994.
[24] M. Shahriari, Inverse Sturm-Liouville problem with eigenparameter dependent boundary and transmission conditions, Azerb. J. Math. 4 (2), 16-30, 2014.
[25] M. Shahriari, A.J. Akbarfam and G. Teschl, Uniqueness for inverse Sturm-Liouville problems with a finite number of transmission conditions, J. Math. Anal. Appl. 395, 19-29, 2012.
[26] M. Shahriari, M. Fallahi and F. Shareghi, Reconstruction of the Sturm-Liouville operators with a finite number of tranmission and parameter dependent boundary conditions, Azerb. J. Math. 8 (2), 3-20, 2018.
[27] G. Teschl, Mathematical Methods in Quantum Mechanics; With Applications to Schrödinger Operators, Graduate Studies in Mathematics, American Mathematical Society, Rhode Island, 2009.
[28] C.F. Yang, An Interior inverse problem for discontinuous boundary-value problems, Integral Equations Operator Theory 65, 593-604, 2009.
[29] C.F. Yang and X.P. Yang, An interior inverse problem for the Sturm-Liouville operator with discontinuous conditions, Appl. Math. Lett. 22, 1315-1319, 2009.
[30] M. Zayernouri, G. Em Karniadakis, Fractional Sturm-Liouville eigen-problems: Theory and numerical approximation, J. Comput. Phys. 252, 495-517 2013.


[^0]:    *Corresponding Author.
    Email addresses: shahriari@maragheh.ac.ir (M. Shahriari), h_mirzaei@sut.ac.ir (H. Mirzaei)
    Received: 28.03.2022; Accepted: 18.11.2022

